PART IV Bid No. S-1229 "ATTACHMENT A" BID FORM/SPECIFICATIONS

Provide Various New and Unused Task Force Tips Appliances and Nozzles for the Garden Grove Fire Department per the bid specifications

Part/Model Number	Description	Units	Notes	Unit Price	Extended Price
HMVS TFT	1.5NH 70-200GPM Midmatic Nozzle with Shutoff *With Spinning Teeth	12	Blue Handle/Bale	718,00	8,616.0
HMVPGIS TFT	1.5NH Mid-Matic 70-200 GPM@100PSI Nozzle, Spinning Teeth	36	Yellow Handle/Bale	7/8.0	25,848.*
HVO TFT	1.5NHF X 1.5NHM Ball Valve Shutoff	24	Orange Handle/Bale	245	5,880:
HM792KIT TFT	Folding Pistol Grip Kit	24	Install on above HVO Shut offs, Orange Stickers	85."	2,040.00
HMLTOS TFT	1.5NH 70-200GPM @ 75PSI Midmatic Nozzle Tip SPN TTH	24	For above shut offs	520."	12,480.00
H2V TFT	2.5NH Handline 95-300GPM Nozzle with Shutoff	12	Red Bale	805:	9640.00
HM792KIT TFT	Folding Pistol Grip Kit	12	Red Sticker Installed on above H2V	8200	984.0
H2BLITZ TFT	2.5NH Handline 95-300GPM Playpipe Nozzle with Shutoff	12		930!0	11,160°.
H2VPP TFT	2.5NHF X 1.5NHM Playpipe with shutoff	12		530.°	6360°°
FS3STACK TFT	1.5NH Stacked Nozzle Tips 1- 1/4"-1-1/8"-1" Orifice	12		85°°	1020.00
MR1250NJ TFT	2.5NH 300-1250 GPM Master Stream Nozzle	12		910 40	10,9200
XFSS5NN TFT	3.5NHF X 2.5NHM 5" Stream Straightener	12		240.0	2880 .00
MST4NJ TFT	2.5NH 4-Stacked Nozzle Tips 2"/1.75"/1.5"/1-3/8"	14		340!	4760.

			TOTAL BID AMOUNT	\$	149,913.65
			SALES TAX (7.75%)	\$	10,782.65
TFT= Task Force Tips			SUB-TOTAL	\$	139,131.00
AS9NJNJ TFT	2-2.5NHFX2.5NHM Clappered Siamese Valve	12		405.0	4860.00 139,131.00 10,782.65 149,913.69
AY5NJ-NJ TFT	2.5NHFSWX2-2.5NHM Gated Wye Valve	24		84200	20208 !
AA7NJNJ TFT	2.5NHFX2.5NHF Adapters2.5" Double Female	24		3400	81600
AA6NJNJ TFT	2.5NHMX2.5NHM Adapters2.5" Double Male	24	=	22"	528!
AYNJNF TFT	2.5NHF X 2-1.5NHM Gated Wye Valve	24		305"	7320"
D1040 TFT	1NH Twister 10/40 Nozzle Tip	12	Red label if possible	5200	62400
F2060 TFT	1.5NH Twister 20/60GPM Nozzle Tip	12	1	9/0	109200
	1 PA 20 Nylon Storage Bag with Carrying Strap				
	16 PA16 Striking Head				
	1 PA15 3-Port Junction Block				
	1 PA25 1.5NH Twist-Grip Shuttoff Valve				
	1 PA14 Piercing Nozzle Point				
	1 PA12 Flow Pattern Extension Section 150GPM@100PSI				
	2 PA11 19" Extension Tubes				
PA2 TFT	1.5NH Transformer Piercing Nozzle Consists of:	1	10750		107500

*Note: Terms of less than Net 20 days will **NOT** be accepted by the City.

BRAND AND MODEL Bidders are to state Brand/Model offered:					
Brand Task Force Tip					
Model As requested					
Warranty Period 5 Years					

II.

III. **DELIVERY PERIOD**

Bidders are to state delivery period after notice to proceed:

Item No. 1 - Calendar Days <u>45</u> _____ after receipt of order

All Lines of this Attachment A: BID FORM/SPECIFICATIONS must be complete or your bid may be deemed as non-responsive. Partial bids will NOT be accepted for any reason.

Bidders Acknowledgment and Listing of Exceptions to the Specification

I have read and agree to comply with each of the above did specifications. If there are any exceptions to these specifications, I have clearly listed them in full below and understand that all requests for substitution or proposed equals shall be submitted in writing per Page 6, Item 17 of this bid document.

Company Name: Fire Etc
Address: 2190 Main St.
Address: 2190 Main St. San Diègo Ca 92113
Phone Number: <u>619-525-7286</u> FAX Number: <u>619-525-7288</u>
Exceptions:
AND THE CONTRACT OF THE CONTRA